L PP P 2

STYLE 6 BANISTER

HAMBURG

INSTRUCTION / MONTAGEANLEITUNG
AT O DoLLE GRoU? INSTRUKTION / INSTRUCCION / INSTRUKCJA

© DOLLE A/S | Inthe interest of technical progress we reserve the right to make changes | R1-96840 | 24/05/23




- .Ah
- KIS

CEHEDUECC(HHOOO

Height floor-to-floor
Geschosshohe
Hauteur sol-sol

Altura de suelo/suelo
Altura do chéo / chdo
Hoogte vloer/vloer
Etagehgjde
Golv till golv hojd
Wysokos¢ kondygnacji od podtogi do podtogi
inaltime sol-sol
Vyska patra podlaha-podlaha
BbicoTa oT nona Ao nona
Auksto aukstis
Stava augstums
Korruse kérgus
Visina nadstropja
Visina kata

Vyska podlazia

Rise height
Steigungshdhe
Hauteur de marche
Altura de peldanos
Altura do degrau
Hoogte trede
Stigningshgjde
Stigningshojd
Wysokos¢ stopnia
inaltime treapta
Vyska schodu
LWar cryneHn
Pakopos aukstis
Pakapiena augstums
Astme korgus
Visina stopnice
Visina stepenice

Vyska stupna

Number of treads
Anzahl Stufen
Nombre de marches
Numero de peldafios
Numero de etapas (degraus)
Aantal treden
Antal trin
Antal steg
Ilos¢ stopni
Numar trepte
Pocet naslapt
Kon-Bo cTyneHeit
Pakopy kiekis
Pakapienu skaits
Astmete arv
Stevilo stopnic
Broj stepenica

Pocet stupriov

dolle.com | Page 2 of 25



x 1

K2-1077515 RAL 7016
K2-1077516 RAL 9005
K2-1077517 Pearl grey
K2-1077518 RAL 9016

x1

K2-1077445 RAL 7016
K2-1077446 RAL 9005
K2-1077447 Pearl grey
K2-1077448 RAL 9016

O

S [11[12]13]14 15 T
x 1 X 9 10 | 11 12 \L 110
K2-1077500 RAL 7016 K2-1077505 RAL 7016
K2-1077501 RAL 9005 K2-1077506 RAL 9005 [ 1] 12]13]14 T 1112 [13[14
K2-1077502 Pearl grey K2-1077507 Pearl grey X |10 ]11]12]13 x [10[11]12]13
K2-1077503 RAL 9016 K2-1077508 RAL 9016 H2-20505 H2-20506
NS .
260 %
|.|
= [11]12]13]14 B
1 [12]12]14]14 <
x [ L]12]12]12]14
‘1 u12]12][12]14] |44 1 X1
K2-1077030 RAL 7016  |K2-1077025 RAL 7016  |K2-1077610 RAL 7016  |K1-1077070 RAL 7016 K1-1077400 RAL 7016
K2-1077031 RAL 9005  |K2-1077026 RAL 9005 |K2-1077611 RAL 9005  |K1-1077071 RAL 9005 K1-1077401 RAL 9005
K2-1077032 Pearl grey K2-1077027 Pearl grey K2-1077612 Pearl grey K1-1077072 Pearl grey K1-1077402 Pearl grey
K2-1077033 RAL 9016  |K2-1077028 RAL 9016  |K2-1077613 RAL 9016  |K1-1077073 RAL 9016 K1-1077403 RAL 9016
(15) o (1)
i 025
I o 38
750
& a
\)
B [11]12]13]14
1|66 |77 ®
x|L|6|6|6]|7 i
Ule|6|6]|7 257
K1-1077045 RAL 7016 X1
K1-1077046 RAL 9005 S M2-1078400 Beech / Buche / Beuk / Hétre / Bag
K1-1077047 Pearl grey S M2-1078310 Oak / Eiche / Eik / Chéne / Eg
K1-1077048 RAL 9016 M2-1078320 Oak white / Eiche weiR / Eik wit / Chéne blanc / Eg hvid
1065 1028 @
)
X R 13[14
110[11[12[13 38
x|Lle|7]8]9
ul2[3|4]s
A}
\Y
S [11[12[13]14 x1
el l7 1 K1-1077630
e e el RAL 7016
X ol el Tels K1-1077631 )
RAL 9005 57
K1-1077635 RAL 7016 K1-1077632
K1-1077636 RAL 9005 Pearl grey M2-1078401 Beech / Buche / Beuk / Hétre / Bag
K1-1077637 Pearl grey LJ—1t |K1-1077633 U —1 |M2-1078302 Oak / Eiche / Eik / Chéne / Eg
K1-1077638 RAL 9016 RAL 9016 M2-1078303 Oak white / Eiche weiR / Eik wit / Chéne blanc / Eg hvid

dolle.com | Page 3 of 25




1|0
x | L|1
U|?2

M2-1078409
M2-1078419
M2-1078429
M2-1078459
M2-1078469
M2-1078479

750 mm Beech / Buche / Beuk / Hétre / Bag

750 mm Oak / Eiche / Eik / Chéne / Eg

750 mm Oak white / Eiche weiss / Eik wit / Chéne blanc / Eg hvid
850 mm Beech / Buche / Beuk / Hétre / Bag

850 mm Oak / Eiche / Eik / Chéne / Eg

850 mm Oak white / Eiche weiss / Eik wit / Chéne blanc / Eg hvid

1|0
x | L|1
U|?2

M2-1078408
M2-1078418
M2-1078428
M2-1078458
M2-1078468
M2-1078478

750 mm Beech / Buche / Beuk / Hétre / Bag

550
57

750 mm Oak white / Eiche weiss / Eik wit / Chéne blan

1072
1202

750 mm Oak / Eiche / Eik / Chéne / Eg :
c{/ Eg hvid

850 mm Beech / Buche / Beuk / Hétre / Bag
850 mm Oak / Eiche / Eik / Chéne / Eg
850 mm Oak white / Eiche weiss / Eik wit / Chéne blanc / Eg hvid

i L1

=)

1|0
x | L|1
U|?2

M2-1078407
M2-1078417
M2-1078427
M2-1078457
M2-1078467
M2-1078477

750 mm Beech / Buche / Beuk / Hétre / Bag
750 mm Oak / Eiche / Eik / Chéne / Eg

750 mm Oak white / Eiche weiss / Eik wit / Chéne blanc / Eg hvid
850 mm Beech / Buche / Beuk / Hétre / Bag

850 mm Oak / Eiche / Eik / Chéne / Eg

850 mm Oak white / Eiche weiss / Eik wit / Chéne blanc / Eg hvid

=)

10
x | L] 1
| 1u]2]
M2-1078406 750 mm Beech / Buche / Beuk / Hétre / Bag 750
M2-1078416 750 mm Oak / Eiche / Eik / Chéne / Eg 85
M2-1078426 750 mm Oak white / Eiche weiss / Eik wit / Chéne blanc / Eg hvid 42
M2-1078456 850 mm Beech / Buche / Beuk / Hétre / Bag 448
M2-1078466 850 mm Oak / Eiche / Eik / Chéne / Eg
M2-1078476 850 mm Oak white / Eiche weiss / Eik wit / Chéne blanc / Eg hvid
L [11]12[13[14 S [11]12]13]14
@ 1|7]7[8]8 @ 1|7]7]8][8
x |L|7 |7 |78 x| L|7|7|7]8
u[7[7(7]8] (77 7]8] @
x 6
K1-1077150 RAL 7016 K2-1077195 RAL 7016
K1-1077151 RAL 9005 K2-1077196 RAL 9005
K1-1077152 Pearl grey K2-1077197 Pearl grey
K1-1077153 RAL 9016 K2-1077198 RAL 9016 K1-1077202
x 10 x 30
K1-14939 K1-04050
@ 540 T 1500 T
!/ !/
[N}
| ) |
\ 1
[
S [11[12]13]14 ’
1|3|3]| 3] 3| M2-1078905 Beech / Buche / Beuken / Héter / Bag
x |L|2]2]|3]| 3| M2-1078915 Oak/ Eiche / Bijv/ Chéne / Eg
U|2|2]| 2] 2| M2-1078917 Oak white / Eiche weil} / Bijv wit / Chéne blanc / Eg hvid

dolle.com | Page 4 of 25




o

T 1500 T
z | ll
1)
x 15
K1-14077
$25 e
x4 X2 150) x4
K2-1077170 RAL 7016 K1-1077165 RAL 7016 \ K1-1077295 RAL 7016 /
K2-1077171 RAL 9005 K1-1077166 RAL 9005 K1-1077296 RAL 9005 0
K2-1077172 Pearl grey K1-1077167 Pearl grey K1-1077297 Pearl grey \/
K2-1077173 RAL 9016 K1-1077168 RAL 9016 K1-1077298 RAL 9016
| e |
S 12]13] 14 S l11]12]13] 14
x | 111213 ] 14 10 | 11 |12 | 13 x 17 x17
R1-63500 O K3-04053 K3-08001 K3-04001
——
M16 x 40 250/ 917 212 x 60 210
S [11]12]13]14 0
1|7]7]8]8
B[ ]12]13]14 x|[L]7]7]7]s
x 17 x [100[106]112]118 u|j7]7]|7]s ° x 10
K3-06003 R1-63267 K3-05002 R3-91415
210 x 60 26 x 35 TX30 M6x8 28 x 40
Strong glue @
B [11]12]13] 14 Superkleber
177|838 Seconde lijm
x|L|7|7|7]|8 Colle forte
v|7|7|718 Superlim X 2
K3-06008 x 1 K3-06022 ©)
a5 x 25 K3-90001 K1 -01810 5 x 36 TX25
o © e @
= [11]12]13]14 Y (11 ]12]13] 14
1 [24]24]28]28 1[26]26[30]30
x | L[24]24]24]28 x | L|26]26]26]30
U [24]24]24] 28 x4 x 4 u [26]26]26]30
K3-06130 K3-06027 K3-08002 K3-05056
26 x 30 TX30 5 x 50 @ 28 x 40 M6 x 5
li : m] lz 12 li Wood glue
LL' 112113 ] 14 Holzkleber
1 35135140140 Colle  bois
x | L[35]|35[35][40 ° Traslim
%2 U [35]35]35]40 Houtlijm
K3-08006 K3-05064 x 8 x 1
26 x 40 M4 x4 R3-20590 K3-90005
<)
? 00
X 22’50
R1 63501 x1 x1
24 mm H3-35920 K1-01620
ﬁ _
9 X2 X2 X2 @
x 1 Q K-02512 O K3-04092 K3-04032
H2-63530 j M12 x 30 12 212

dolle.com | Page 5 of 25




Tools not included!
Werkzeuge nicht enthalten!
Gereedschap niet inbegrepen!

Outils non inclus!
Veerktgj ikke inkluderet!

«©
((\ ~
!QQ %)

TX25
TX30
— Pz2
® 3mm @ 6mm
® 4mm @ 12mm
@ 6mm
@ 8mm

@ 10mm

3mm
4mm W
6mm
16mm
18mm

dolle.com | Page 6 of 25




S \Waﬂ J»or)
", N'”l N""
7N
) \‘ /
)i




H
N
—
N 906 - 931mm
(
2394mm N
{ | i\
N
44 - 48° RS .
S
!
S = H min S max S Example / Beispiel / Voorbeeld / Example / Eksempel:
T+1 185 mm 215 mm H: 2400 mm, T: 11 st(pcs)
S = 2400 mm 200
TTeq o0 mm %
T min H max H
9 1850 mm 2150 mm
10 2035 mm 2365 mm
11 2220 mm 2580 mm
12 2405 mm 2795 mm
13 2590 mm 3010 mm
14 2775 mm 3225 mm

dolle.com | Page 8 of 25




10 - 20mm

2b

4x @ 12mm o

= =

¥ 70mm

4 x @ 6mm
v 60mm

dolle.com | Page 9 of 25




750
850

750
850

;

"/

/‘\
TN
[
|_ &
aCg—~ 1

/
—
I\

750
850

dolle.com | Page 10 of 25




dolle.com | Page 11 of 25




VAN

Wooden post
Holzpfosten
Houten paal
Poteau en bois
Treestolpe

#4

dolle.com | Page 12 of 25




dolle.com | Page 13 of 25



dolle.com | Page 14 of 25



8x @ 4mm ¥ 30mm







Mounting of wallbrackets is optional

Die Montage von Wandhalterungen ist optional
Montage van muurbeugels is optioneel

Le montage de supports muraux est facultatif
Montering af veegbeslag er valgfri

2 wall brackets in position A or B

2 Wandhalterungen in der Position A oder B
2 muurbeugels in positie A of B

2 supports mural dans la position A ou B

2 veegbeslag i position A eller B

4 wall brackets in position A or B

4 Wandhalterungen in der Position A oder B
4 muurbeugels in positie A of B

4 supports mural dans la position A ou B

4 veegbeslag i position A eller B

% @ 6mm ¥ 70mm

2 wall brackets must be mounted on a 1/4 turn
or 4 on a 1/2 turn staircase.

2 Wandhalterungen mussen auf einer
1/4-gewendelten oder 4 auf einer 1/2-gewen-
delten Treppe montiert werden.

2 muurbeugels moeten gemonteerd worden op
een 1/4 draai of 4 op een 1/2 draai trap.

2 supports mural doivent étre monté sur un
escalier 1/4 ou 4 sur un escalier 1/2 tournant.

2 vaegvinkler er pakraevet i en 1/4-svings- eller
4 i en 1/2-svings-trappe.

150mm

Z

dolle.com | Page 17 of 25




N




P

C

4

34mm

T

q
A
9 9

_——

2

l
0

dolle.com | Page 19 of 25













28

®» 8mm T 25mm

@ 3mm ¥ 40mm

dolle.com | Page 23 of 25




dolle.com | Page 24 of 25






